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Reasoning and Problem Solving

Converting Units ~ Year 6
About This Resource

Thisresource is simed at Year 6 Secure and has been designed to give children the
opportunity o consoldate the sills the have learned in Spring Block 4
Measurement. Converting Units.

The questions are based on  selecion of the same ‘smallsteps’ that are addressed in
the block, but are presented n a diferent way so children can work through the pack
independently and demonstrate their understanding and skils.

Small Steps

Metric measures
Convert metric measures
Caleulate with metric measures
Miles and kilometres

Imperial measures

National Curriculum Objectives

Mathematis Year 6: (6MS) Use, read, write and convert between standard unts,
converting mecsurements o length, mass, volume and time from a smaller unit of
measure o a large uni, and vice vrsa, using decimal notation o up to three decimal
laces

Mathematis Year 6: (6M8) Convert between miles and kilometres

Mathematics Year 6. (6M Solve problems invobing the calculation and conversion of
units of measure, using decimal notation up o three decimal places where appropriate

Did you like this resource? Don't forget to review it on our website.
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Units — Year 6
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A British school i planning an exchange with a high school in Portugal. The school
have been learning Portugase in anticpation of the children coming to vist They wil
sty with the familes of children who will then viss Portugal later in the year.

It time to make the final arangements but there a htch! Al th information from.
Britain i in imperial measures and the Portuguse School only use the metric system!
You will need to make sure allthe details below are transferred to metric befors the
deadline to ensure the trip runs as smoothly as possible.

Souvenir hoodies have

==07088Te0

1. Converethe | 135em Vthem | 155em | 165m. 4o

chidren's heights to

imperil (feet and
inches).

e

The coach hire company in Portugal will b bringing th chldren to theschool via @
ey fom Spain. Thy v calculated the Jourmey wiltake 34 howrs of driving
They thre coaches booked and or nsurance purposesnesd to know the total umber
ofhous tht three drvers will b diving (i day) for he enir Jouney there and.
back

2 Caletat the total amount of dving timein dags 1 the nearest half da), for the
i#ip to England and the return r1p to Portugal.
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Converting Units — Year 6

The coach travl company require some mare information to give thei full quote
The distance from the Portuguese school to the British school i 2,193km.

Your Headteacher estimates the planned tips, while the Portugese children are
visiting, wil be another 55 miles of journey distance.

3. Caleulat the full distance in miles. Give your answer to 2 decimal places.

4 Wish disel costing £1.20 per ltr and each bus running at around.
40 miles to the gallon, hov much is the fuel il fo one bus likely to

e e e e st e ot e e s ety

5. The headteacher s checking parking ot the visi venues and has compiled a st of
the parking spaces availabl at each place of nterst.

The Portuguese school have confirmed their coaches will be 121 long.

Tick which venes can accommodate the coaches?

Muson | Seuite | CouryPark | Shoppng M| Treme Pk
= 5 o . )
e = B “ E;

T el i, wich s o i o s g, o il

some bridges and tunnels with restictions.
The fully loaded bus weighs 16,9%8kg and is 64dem all.

6. Tick which o the restricted bridges and tunnels the coach il have to avoid.
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and Problem Converting Units — Year 6

“The school kitchen will be proviing packed lunches for the visitors and have asksd.
the Portuguese schol for detail of the curren use of key ingredients for the children
involved for @ week. They sent the information below.

7. Complete the table to help the kitchen place their order in time.

Ttem. Per Child. 8 cnildren Inperial
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Just when we thoughs i was time to rela, the school seretary has a taken & message
from the travel company. They have alsred thei weight and size linit for uggage.
& Translate the measuremens from imperial to metri to send to th Portuguese

School. —)

15kg
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Answers ma very depending i conversion resrounding sk
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3.5 s e o B e g thi wecon e 213 + 8274135, 276,125
137063 i (i nesrest 2 ecimat lce, s 55 s o s, 1.425.63 s ot
4142553 o the st il 1,626 7 40
s el 10 3565 14

501 mevre = 328 ee0

5,65 golons offue.Thereare approvimately 45
160,43 st £1.20 cach = £19252
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8.1 =2 3hem. 13 nches 254 = 30, G iches 254 = 22.8; 3302em x 3302em x-
22.86cm. 2.2005 i a kg. 3 stone 21 = bdins. 44 220 =D kg




